
abased

Interlinear Index Study

abased 40_MAT_23_12 And whosoever <3748 -hostis -> shall exalt <5312 -hupsoo -> himself <1438 -heautou ->
shall be 

abased 42_LUK_14_11 For whosoever 3588 -ho - exalteth 5312 - hupsoo - himself 1438 -heautou - shall be 

abased 42_LUK_18_14 I tell 3004 -lego - you , this 3778 -houtos - man went 2597 -katabaino - down 2597 -
katabaino - to his house 3624 -oikos - justified 1344 -dikaioo - [ rather ] than 2228 -e - the other 1565 -ekeinos - : 
for every 3956 -pas - one that exalteth 5312 -hupsoo - himself 1438 -heautou - shall be 

abased 50_PHP_04_12 I know <1492 -eido -> both <2532 -kai -> how to be 
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